Your name here


PHY 202
Lab 12

The Ripple Adder.

The circuit below is a two-bit ripple counter.  
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A0 and B0 are the least significant bits (the one’s place) of the two input numbers to be added.  Those inputs are fed into a circuit which determines S0 the least significant bit of the sum of A and B as well as the “carry out” from the one’s place.  The inputs A1 and B1 correspond to the two’s place of the two numbers to be added. The “carry out” from the one’s place is brought in as the “carry in” in the two’s place and gets added to A1 and B1, which produce S1, the two’s place of the sum of A and B and a carry out that would affect the next digit (the four’s place).   
Complete the circuit FourBitRippleAdder_Unfinished.ms8.  Connect the switches to the adder inputs and to the seven-segment displays.  Connect the sum outputs to the third seven-segment display. Paste a copy of it displaying the result 3+4=7. 
